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QUESTION 1

A SAN administrator creates a SAN Copy session between two EMC VNX using Navisphere Secure CLI for a single
database LUN. The session starts copying but fails to complete. What is the most likely cause of this failure?

A. The destination LUN is smaller than the source LUN.
B. A host has mounted the LUN on the destination VNX.
C. LUN masking has not been completed.

D. Zoning between the two VNX is incorrect.

Correct Answer: A

QUESTION 2

A customer plans to use Incremental SAN Copy (ISC) to migrate data between two EMC VNX. They attempt to create a
SAN Copy session from a source LUN, but are unable to create the session. Which is the most likely cause for this SAN
Copy session behavior?

A. The source LUN is a SnapView snapshot LUN.

B. The source LUN is already being replicated to a destination LUN.

C. The source and destination LUNs are not the same RAID type.

D. The SAN Copy session is not running on a MirrorView port.

Correct Answer: A

QUESTION 3

Exchange 2010 is installed on a virtual machine using VMDK files. Replication Manager is being used to take snapshots
of the virtual machine files and back them up to disk. After a few weeks, the Exchange server backups stop functioning.
What is the most likely reason for this failure?

A. Replication Manager agent service has stopped

B. Replication Manager can only snapshot powered off VMs

C. Replication Manager is not compatible with VMFS version 5

D. Replication Manager agent is installed on each DAG server

Correct Answer: A

QUESTION 4
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A customer deployed a single EMC RecoverPoint 2-node cluster with Virtual RPA configured with RecoverPoint/SE
license at the primary site. They want to scale-up the environment.

With the current RecoverPoint/SE license, how many vRPAs can be added?
A.0
B. 4
C.6
D.8

Correct Answer: C

QUESTION 5

Which RecoverPoint/SE volume type stores information about the cluster and must be accessible by all RPAs?
A. Repository

B. Copy journal

C. Production journal

D. All volumes in the replication set

Correct Answer: A
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